
Parts Breakdown
Model FW-US-690-25-2 39853



Parts Breakdown
Model FW-US-690-25-2 39853

Item No. Description Position Item No. Description Position Item No. Description Position

61431 Black Canopy for 39853 1 41625 Thermostat for 39853 11 61452 Door Assy 690-25 (Black Knob) for 
39853 21

61433 Cup Washers for 39853 2 61443 Thermostat Dial for 39853 12 61453 Male Hinge for 39853 22

61434 Hood Screws for 39853 3 61444 Thermostat Knob for 39853 13 61454 6-32 x 1/4 Screw for 39853 23

AK263 Tuffskin Incandescent Lamp for 39853 4 61445 Power Cord for 39853 14 61455 Wire Rack for 39853 24

61436 Light Socket Assembly for 39853 5 61446 Bottom Foot Service Kit for 39853 15 45884 Thermometer for 39853 25

AK264 Rack Holder for 39853 6 61447 #8-32 Screw for 39853 16 41914 Motor for 39853 26

61438 10-32 x 3/8 Brass Thumb Screw for 
39853 7 AK267 Magnetic Strip for 39853 17 61458 550W 115V Heating Element for 39853 27

AK265 Side Panel for 39853 8 61449 Door Knob for 39853 18 61459 Hight Limit Thermostat for 39853 28

61440 Strain Relief for 39853 9 61450 6-32 x 3/8 FHMS Screw for 39853 19 61460 Terminal Block for 39853 29

AK266 Power Switch for 39853 10 61451 Female Hinge for 39853 20


